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Question 1

Question Type: MultipleChoice

As a TIBCO recommended best practice, what is the preferred method for indicating backwards- compatible changes to a service?

Options:

A- update the major release number in the WSDL namespace name
B- update the major release number in the WSDL filename
C- update the point release number in the WSDL namespace name

D- update the point release number in the WSDL filename

Answer:

D

Question 2

Question Type: MultipleChoice




A called sub-process has a Generate Error activity. There are no error transitions in any of the involved processes. What happens when
the Generate Error activity is executed?

Options:

A- The process instance terminates.
B- The uncaught exception causes the engine to exit.
C- The job interface transitions into an error state.

D- The sub-process restarts processing with its start activity.

Answer:

A

Question 3

Question Type: MultipleChoice

The mismatched bandwidth between a message producer and consumer can be solved by setting which property in the TIBCO EMS
configuration?



Options:

A- msg_swapping
B- multicast
C- max_msg_memory

D- flow_control

Answer:

B

Question 4

Question Type: MultipleChoice

Which three actions are classed as 'Non-Destructive Changes' when upgrading a Case Data Model? (Choose three.)

Options:

A- On an attribute, make it searchable or not searchable.



B- Add a mandatory attribute to a class.

C- Add a new class.

D- Change multiplicity from 1..1to 1..*

E- On an attribute, change a pattern that is applied to the attribute.

F- Change multiplicity lower bounds to a lower value.

Answer:

A CF

Question 5

Question Type: MultipleChoice

Which three statements are correct about TIBCO Rendezvous? (Choose three.)

Options:

A- Rendezvous distributed queue (RVCMQ) is 1-of-n delivery for load balancing among cooperating processes.

B- RVFT is specifcally designed for high-speed network interface cards.



C- Rendezvous reliable delivery (TRDP) is built on top of the UDP protocol.
D- RVDM is built on top of the TCP layer for point-to-point communication.

E- RVCM is implemented in the API layer for guaranteed message delivery.

Answer:

A CE

Question 6

Question Type: MultipleChoice

What are two requirements for deleting a domain? (Choose two.)

Options:

A- use TIBCO Domain Utility to delete all secondary servers
B- undeploy all deployed applications
C- delete all administrators associated with the domain

D- stop any LDAP server used by the domain



Answer:

A B

Question 7

Question Type: MultipleChoice

What is used to group a set of related attributes together in a repository?

Options:

A- attribute groups
B- input maps
C- classifcation schemes

D- output maps

Answer:

A



Question 8

Question Type: MultipleChoice

Your company is supporting an integration project between two home-grown database applications running on Microsoft and Oracle
databases. These applications support 24/7 operations. For the integration project, you are using TIBCO ActiveMatrix BusinessWorks
and the TIBCO ActiveMatrix ActiveDatabase Adapter. The project includes: PSeveral ActiveMatrix BusinessWorks processes contained
in two process archives (PARI and PAR2)?0One ActiveMatrix ActiveDatabase Adapter for each respective database, each contained in a
separate adapter archive (AARM and AARO) Given two servers (A and B), what is the correct domain architecture?

Options:

A- Server A: primary TIBCO Administrator, secondary PARI, secondary AARM, Master AARO, Master PAR2 v u Server B: Master PARI,
Master AARM, secondary AARO, secondary PAR2, secondary TIBCO Administrator

B- Server A: primary TIBCO Administrator, secondary PARI, secondary AARM, Master AARO, Master PAR2 u Server B: Master PARI,
Master AARM, secondary AARO, secondary PAR2, primary TIBCO Administrator

C- Server A: primary TIBCO Administrator, secondary PARI, secondary AARM, Master AARO, Master PAR2
Server B: secondary PARI, Master AARM, secondary AARO, secondary PAR2, secondary TIBCO Administrator

D- Server A: primary TIBCO Administrator, secondary PARI, secondary AARM, Master AA60, Master PAR2 Server B: Master PARI,
Master AARM, secondary AARM, secondary PAR2, secondary TIBCO Administrator

Answer:




Question 9

Question Type: MultipleChoice

Which TIBCO product must be pre-installed in the same TIBCOJHOME as ActiveMatrix BusinessWorks?

Options:

A- TIBCO Business Studio

B- TIBCO Business Events

C- TIBCO Enterprise Message Service
D- TIBCO Runtime Agent

Answer:

D
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